 General Cable

4-Pair Riser Copper
Datacom Cables

Environmental Product Declaration

i
Y/l

| ‘ ’

[ ]
ASTM International Declaration Number: EPD 288 Pl‘ysmlan
100 Barr Harbor Drive Issue Date: 1/6/2022 Grou N
West Conshohocken, PA 19428, USA Valid Until: 1/6/2027 General Cable



Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration
Grou In Accordance to 1SO 14025 and EN 15804
eneral Cable orwegian oundation: or Electrical cables and wires

General Cabl N ian EPD Foundation: PCR for El ical cabl d wi

This declaration is an environmental product declaration (EPD) in accordance with 1ISO 14025 and EN15804. EPDs rely
on Life Cycle Assessment (LCA) to provide information on a number of environmental impacts of products over their
life cycle.

Independent verification of the declaration according to Independent verification of the life cycle assessment
EN ISO 14025:2010 by ASTM International according to ISO 14044 and the reference PCR by Industrial
[0 INTERNAL XIEXTERNAL Ecology
0 INTERNAL XIEXTERNAL

bi /]rém.-v’ r,‘ \I__af—f..._ .

Tim Brooke, ASTM International
Thomas Gloria, Ph. D, Industrial Ecology

CEN Standard EN 15804 serves as the core PCR (Product Category Rule)

NPCR Part A: Construction Products and Services NPCR 027 PCR — Part B for electrical cables and wires
Version 1.0 Version 1.0

Issue date: 07.04.2017 Issue date: 10.02.2020

Valid to: 07.04.2022 Valid to: 10.02.2025

Published by Norwegian EPD Foundation Published by Norwegian EPD Foundation

Exclusions: EPDs do not indicate that any environmental or social performance benchmarks are met, and there may
be impacts that they do not encompass. LCAs do not typically address the site-specific environmental impacts of raw
material extraction, nor are they meant to assess human health toxicity. EPDs can complement but cannot replace
tools and certifications that are designed to address these impacts and/or set performance thresholds — e.g. Type 1
certifications, health assessments and declarations, environmental impact assessments, etc. for any particular
product line and reported impact.

Accuracy of Results: EPDs regularly rely on estimations of impacts, and the level of accuracy in estimation of effect
differs

Comparability: EPDs are not comparative assertions and are either not comparable or have limited comparability
when they cover different life cycle stages, are based on different product category rules, or are missing relevant
environmental impacts. EPDs from different programs may not be comparable.



Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Grou In Accordance to 1SO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

Product Definition and Information

Company Description

General Cable is a global leader in the development, design, manufacture, marketing and distribution of aluminum,
copper and fiber optic wire and cable products for the energy, construction, industrial, specialty, and
communications markets. General Cable was the first cable manufacturer to obtain certification for its
environmental management system, in accordance with the ISO 14001 and EMAS Standards. General Cable has
accelerated its environmental commitment, addressing its green alternative approach by identifying greener
opportunities and promoting green cabling solutions wherever feasible. This includes promoting our existing green
products, partnering with key customers in their green endeavors, identifying and providing resources for green
product gaps, becoming a member of the United States Green Building Council (USGBC) and participating in
collaborative ventures such as the Green Suppliers Network (GSN). For a comprehensive account of General Cable’s
sustainability strategies, please visit: gnca.us/sustainability.

Product Description

Riser cables are installed in non-plenum spaces of buildings and must meet associated fire safety test standards. All
products listed below are UL Listed CMR and have been UL or ETL verified as Category 6A, Category 6, or Category 5e
products. . Please note the part numbers listed below represent the most common color / put-up combination; for
additional offerings please visit www.generalcable.com.

GenSPEED® 10 MTP™ Category 6A, Part Number: 7143849

GenSPEED 10 MTP unshielded twisted-pair (UTP), utilizing the patented Mosaic Crossblock™ technology, provides
Industry-leading protection from alien crosstalk with guaranteed 8 dB of headroom over the ANSI/TIA 568.2-D
standard for alien crosstalk (PSANEXT and PSAACRF). Mosaic Crossblock is a thin metallic tape of segmented sections
separated by an insulating layer. Since there is no metal-to-metal contact, there is no path for current to flow
longitudinally, and thus, no need for grounding. An ideal product for high-power PoE applications, Rated to75°C
GenSPEED 10 MTP is UL Listed CMP-LP (0.5A) and able to support up to 100 watts using 50 volts over all four pairs.

GenSPEED® 10 MTP™ with 17 FREE® Category 6A, Part number: 7133849-17F

General Cable’s 17 FREE line of cables offers an alternative to traditional CMP and CMR rated cables. By removing all
halogens from the cable construction, a less toxic cable is achieved. GenSPEED 10 MTP with 17 FREE provides the
same excellent performance as the CMR rated version in an environmentally friendly design.

GenSPEED" 10,000 Category 6A U/FTP (STP), Part number: 7133786

The individually shielded pairs of GenSPEED 10,000 Category 6A U/FTP (STP) allow for maximum pair separation,
increasing key electrical performance parameters. The electromagnetic interference (EMI) protection provided by the
shielded design makes this an excellent product for digital video, broadband and baseband analog video applications.

GenSPEED" 10,000 Category 6A F/UTP (ScTP), Part number: 7133586

GenSPEED 10,000 Category 6A F/UTP is an overall shielded cable, requiring grounding and providing 6 dB of
guaranteed headroom over the ANSI/TIA 568-C.2 standard for alien crosstalk (PSANEXT and PSAACRF). The internal
separator optimizes internal pair geometry to yield superior electrical performance while maintaining flexibility.
Rated to 75°C for greater protection against increased operating temperatures, GenSPEED 10,000 F/UTP is UL Listed
CMR-LP (0.5A) and able to support PoE applications up to 100 watts using 50 volts over four pairs.

2



Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Grou In Accordance to 1SO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

GenSPEED" 10 Category 6A, Part number: 7143819

This Category 6A standards-compliant cable utilizes an innovative T-Top crossweb which locks the pairs into a
systematic orientation within the cable providing superior internal electrical characteristics. The AirES jacket provides
flexibility and maximum separation of pairs from cable to cable for consistent alien crosstalk (PSANEXT and PSAACRF)
performance.

GenSPEED" 6500 Premium Category 6, Part number: 7133970

Designed and engineered with precision balance, GenSPEED 6500 utilizes an improved internal separator to allow for
more pair separation.With performance guaranteed to 350 MHz, this product provides 7 dB of headroom over the
ANSI/TIA 568-C.2 standard for internal crosstalk. Rated to 75°C for greater protection against increased operating
temperatures, GenSPEED 6500 is UL Listed CMR-LP (0.5A) and able to support PoE applications up to 100 watts using
50 volts over four pairs.

GenSPEED" 6000 Enhanced Category 6, Part number: 7133900

Optimally balanced, GenSPEED 6000 utilizes an innovative crossweb design allowing for maximum pair separation.
With performance guaranteed to 350 MHz, this product provides 5 dB of headroom over the ANSI/TIA 568-C.2
standard for internal crosstalk.

GenSPEED’ 6 Category 6, Part number: 7133800

Standards-compliant with performance guaranteed to 350 MHz, GenSPEED 6 Category 6 utilizes 23 AWG copper and
a unique separator design engineered for consistent electrical performance. The TRU-Mark” print legend contains
footage markeings from 1000’ to 0’, making usage easier to track.

GenSPEED" with 17 FREE® Category 6, Part number: 7133800-17F

General Cable’s 17 FREE line of cables offers an alternative to traditional CMP and CMR rated cables. By removing all
halogens from the cable construction, a less toxic cable is achieved. GenSPEED 6 with 17 FREE provides the same
excellent performance as the CMR rated version in an environmentally friendly design.

GenSPEED® Category 6 F/UTP (ScTP), Part number: 6133785

This Category 6 standards-compliant cable employs a foil shield to reduce electromagnetic interference (EMI) for
optimal performance. Rated to 75°C for greater protection against increased operating temperatures, GenSPEED 6
F/UTP is UL Listed CMR-LP (0.5A) and able to support PoE applications up to 100 watts using 50 volts over four pairs.

GenSPEED" 5500 Premium Category 5e, Part number: 6133299

With performance guaranteed to 350 MHz, GenSPEED 5500 ensures increased headroom for future applications,
lower bit-error rates and higher signal transmission quality while also providing enhanced signal-to-noise ratio for
improved bit-error rate.

GenSPEED" 5350 Enhanced Category 5e, Part number: 6133712

With performance guaranteed to 350 MHz, GenSPEED 5350 features a 24 AWG design and ensures headroom over
the ANSI/TIA 568-C.2 performance standard.




Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration
G

aroup In Accordance to ISO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

GenSPEED" 5350 with 17 FREE® Enhanced Category 5e, Part number: 6133500-17F

General Cable’s 17 FREE line of cables offers an alternative to traditional CMP and CMR rated cables. By removing all
halogens from the cable construction, a less toxic cable is achieved. GenSPEED 5350 with 17 FREE provides the same
excellent performance as the CMR rated version in an environmentally friendly design.

GenSPEED" 5000 Category 5e, Part number: 5133299E

Standards-compliant with performance guaranteed to 200 MHz, GenSPEED 5000 is engineered to provide stable and
continuous performance.

GenSPEED" 5000 with 17 FREE Category 5E, Part number: 5133299-17F

General Cable’s 17 FREE line of cables offers an alternative to traditional CMP and CMR rated cables. By removing all
halogens from the cable construction, a less toxic cable is achieved. GenSPEED 5000 with 17 FREE provides the same
excellent performance as the CMR rated version in an environmentally friendly design.

GenSPEED" 5000 Category 5E F/UTP (ScTP), Part number: 2133496E

Standards—compliant, GenSPEED 5000 F/UTPfeatures a foil-shield for reduced electromagnetic interference (EMI)
and optimal performance.

Environmental impacts are reported per functional unit of a product and the functional unit is the basis for
comparison in an LCA. For the copper data cable, the functional unit is one meter of cable to be installed for 60 years
in a buliding.

(Note: while cable itself may have a service life of 60 years, with innovations in technology in this data field, the
product may be replaced with faster, more modern alternates as the building ages. For the sake of this study and
simplicity, a similar replacement to the existing cable is assumed to occur after 30 years.)

Manufacturing Locations

These data cables are manufactured in Lawrenceburg, Kentucky and Jackson, Tennessee. Primary data for the life
cycle assessment has been provided by each of these facilities and a weighted average has been conducted for each
product.

Applications and Uses

The products listed are used in the non-plenum spaces of buildings. Applications for riser products include: IEEE
802.3: 10 through 10GBASE-T LAN and WLAN applications; Power over Ethernet — 802.3AF (PoE), 802.3at (PoE+);
HDBT and digital video; broadband and baseband analog video; CDDI, Token Ring, ATM.

I



Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration
G

aroup In Accordance to ISO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

Life Cycle Assessment Description

System Boundary
This project considers the life cycle activities from resource extraction through installation and end-of-life effects. The
boundary covers raw material acquisition, manufacturing, marketing, use and waste disposal as seen in Table 3.

Table 1 - System Boundary

0o
c
= = -
o =) [
Q 5] 0 [T} a0 )
n = = c c o ‘@ S o
= — =) o nn c w o = <l © Q n v c
] ] c| © 3 c | o | = - 5 c| 9| @ 2 o
= = © 35 c c ) £ © g © g O o c 8 8 om
3 Lyl ElTL| O © E|l | Sal Selc2=s| | 2| _| 2w
© © O - o 5 ] c o ) O O + O - o x c
ol & © 3] S E| 5 E] @ = o | X c
= = 2| 5| & & = el =l 8] 2 5| ms3l c6| 8| 9| g 55
c| ol s c| & S| ® = S 2| g 2] 9| &| & <t v >
3 S Gl ol &5l & ol gl 2| ol & O c| 9 c| O 2 3 S5 O
© o O c|] £ &) @ ) 0] 0] 3] Q o| 2 0] 9 0 2 v Q
o cr-|lalzF| £ S| S|l x|lx|x| 00| 00]locao| 2| 2|0 | xcx
Al A2 A3 A4 A5 Bl1|B2| B3| B4 | B5 B6 B7 C1 C2 | C3 |4 D
X X X X X X | X | X X X X X X X X X

Allocation

Allocation for manufacturing energy, water, and waste items was conducted per length of production based on
manufacturing zones of each facility.

Cut-off Criteria

For any impact category, should the sum of various impacts from a specific process/activity be less than 1% of the
impact equivalent in that category, the process/activity may be neglected during the inventory analysis. Nonetheless,
the accumulated impact of neglected process/activity may not exceed 5%. Components and materials omitted from
the LCA shall be documented.

This EPD is in compliance with the cut-off criteria. Components and materials omitted from the LCA shall be
documented and include installation energy from signal testing devices in the installation of data communication
cable. Capital items for the production processes (machines, buildings, etc.) were not taken into consideration.
Period under Consideration

Primary data used refer to the production processes of the two manufacturing facilities and were derived from
calendar year 2019.

Software and Background Data

SimaPro v9.1.1 Software System for Life Cycle Engineering, an internationally recognized LCA modeling software
program, was used for life cycle impact assessment modeling. Background and secondary datasets were modeled
using the US LCI database, developed by the National Renewable Energy Laboratory, as well as the ecoinvent v3
database, which is developed by the Swiss Centre for Life Cycle Inventories. FEP material impact data was obtained
from an LCA on data cable conducted for the Environmental Protection Agency.

(2]



PI' smian 4-Pair Riser Datacom Cable Environmental Product Declaration

Group In Accordance to ISO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

DETENOITE][14Y,

The data sources used are complete and representative of global systems in terms of the geographic and
technological coverage and are a recent vintage (i.e. less than ten years old). The data used for primary data are
based on direct information sources of the manufacturers. Secondary data sets were used for raw materials
extraction and processing, end of life, transportation, and energy production flows. Wherever secondary data is used,
the study adopts critically reviewed data for consistency, precision, and reproducibility to limit uncertainty.

Treatment of Biogenic Carbon
The uptake and release of biogenic carbon througout the produc tlife cycle follows ISO 21930:2017 Section 7.2.7.

Comparability and Benchmarking

A comparison or an evaluation of EPD data is only possible if all data sets to be compared were created according to
EN 15804 and the building context, respectively the product-specific characteristics of performance, are taken into
account. Environmental declarations from different programs may not be comparable. Full conformance with the
PCR allows for EPD comparability only when all stages a product's life cycle have been considered. However,
variations and deviations are possible.

Installation and Use Stage

The lifetimes of these products are widely variable and most often data cable is replaced due to increased bandwith
and data speed requirements, and not because of product performance or degradation. Copper data cable is a
passive product after installation and during the use stage, meaning no energy is consumed nor additional
maintenance is requried during the products’ use. Therefore, no use stage impacts were measured, and thus none
are presented in these results.

End-of-Life

A distance of 20 miles to the recycling facility was assumed for products at the end-of-life. A 95% recycling rate was
assumed with the remaining 5% being disposed as the average US municipal solid waste disposition, as cited in a
study conducted by DuPont (Krieger, 2007). The US disposition rates of 82% landfill and 18% incineration were
assumed for the remaining 5% of product material. The cut-off methodology (also known as the recycled content
method) was used for any materials that were sent to recycling such as scrap and the end-of-life disposition. This
methodology assumes the processing of the recycled material at the recycler will be applied to the next product life
cycle. Data not available in life cycle databases used models found in the Waste Reduction Model (WARM),
developed by the US EPA.



Prysmian

Group
General Cable

4-Pair Riser Datacom Cable Environmental Product Declaration

In Accordance to ISO 14025 and EN 15804

Norwegian EPD Foundation: PCR for Electrical cables and wires

Cradle-to-Grave Assumptions

Al. Material Inputs

The raw material inputs for the riser data cables are listed in Table 1. Table 2 details the average packaging

associated with with each product.

Table 2 - Cable Component Formulations (kg/m)

GenSPEED . Ge;(S):gED GenSPEED GenSPEED GenSPEED GenSPEED
Viaterial 5000with oo carsg  5350with | 5350 5500 6with  GenSPEED
I7FRREE o fjutp  L7FREE  Enhanced Premium  17FREE 6 CATG
CATSE CATSE CATSE CATSE CAT6
(ScTP)
Copper 1.56-02 | 1.56-02 | 1.7E-02 | 1.5E-02 | 1.5E-02 | 1.8E-02 | 1.8€-02 | 1.8E-02
HDPE Insulation | 2.2E-03 | 3.2E-03 | 4.9E-03 | 2.3E03 | 3.2E-03 | 45E-03 | 2.6E03 | 4.3E-03
Jacketing 7.76-03 | 9.2E-03 | 1.8E02 | 7.7E-03 | 87E-03 | 12602 | 1.4E02 | 1.2E-02
Tapes 0.0E+00 | O0.0E+00 | 4.0E-03 | O.OE+00 | O0.0E+00 | O.0E+00 | 8.4E-04 | 8.4E-04
Others 29E-03 | 3.1E-04 | 2.4E03 | 29E-03 | 3.1E-04 | 2.6E04 | 3.26-03 | 2.3E-04
Total 2.8E02 | 2.7E-02 | 4.6E02 | 2.8E02 | 2.7E-02 | 3.56-02 | 3.8E02 | 3.5E-02
GenSPEED GenSPEED GenSPEED Gf;i::? Gigsg::') GenSPEED ..
: 6000 6500 6 CAT6 ‘ : 10 CAT6A GenSPEED
Material : with17 | CAT6A 10 MTP
Enhanced Premium F/UTP F/UTP 10 CAT6A
CAT6 CAT6 (SCTP) FREE Yy (ScTP) CATEA
CAT6A (STP)
Copper 1.86-02 | 2.1E-02 | 1.8E-02 | 2.0E-02 | 1.902 | 1.8E-02 | 1.8€-02 | 1.8E-02
HDPE Insulation | 3.8E-03 | 5.0E-03 | 3.4E-03 | 49E-03 | 7.E-03 | 3.4E-03 | 3.4E03 | 3.4E-03
Jacketing 13E-02 | 1.6E-02 | 1.2E02 | 22E-02 | 2.7E02 | 12602 | 1.2E-02 | 1.2£02
Tapes 0.0E+00 | O0.0E+00 | 4.8E-03 | 1.3E-02 | 8.0E03 | 48E03 | 3.9E-03 | 4.1E03
Others 176-03 | 6.2E03 | 9.7E-03 | 6.0E-03 | 2.3E03 | 9.7E03 | 7.9E-03 | 7.903
Total 3.7E02 | 4.8E-02 | 4.8602 | 6.5E02 | 6.3E-02 | 4.8602 | 4.6E02 | 4.6E-02

A2. Raw Material Transportation

General Cable provided resource transportation mode and location data to support the calculation of raw material
transportation flows. The transportation LCI data from the US LCI database (kg-km basis) were used to develop the
resource transportation LCI profile.




Group
General Cable

Prysmian

4-Pair Riser Datacom Cable Environmental Product Declaration

In Accordance to ISO 14025 and EN 15804

Norwegian EPD Foundation: PCR for Electrical cables and wires

A3. Manufacturing Process

Copper wire goes through two drawing processes with an immediate subsequent annealing process. The wire
continues down the line to an extruder where the insulation material is applied to the wire. Cooling and drying of the
insulated wire then occurs. Two of these insulated wires are then twinned together around each other. Four twinned
wire pairs, along with other cable components such as separator tape and/or shielding material, are then bunched
together. Subsequently, the bunched wire has a jacket extruded around the bunched cable. After the jacket is
applied, the cable is cooled and packaged. Various packaging options exist, but most product is shipped in 1000-foot

length spools and/or boxes.

Copper Rod Insulation L
Drawing —) Extrusion - Twinning
Packaging 4 Jacketing 4= Bunching

Figure 1 - Manufacturing Process Flow of Riser Copper Data Cable

Packaging

All packaging is fully recyclable. The packaging material is composed primarily of wood, with cardboard and plastic
materials used for individual product packaging.

Material Minimum

Cardboard 36.38%
Other 0.65%
Plastic 0.15%
Wood 62.82%
Total 100.00%

AA4. Final Product Transportation

An assumed distance of 1,000 miles (1,600 km) was assumed for shipment from the manufacturing facility to the final

building site for installation.

Description (olTET11114Y Unit
Vehicle Type Combination Truck n/a

Fuel Type Diesel n/a

Fuel Consumption 38 Km/liters
Distance 300 Km

Bulk Density of Transported 100 - 210 kg/m?3
Products

Volume Capacity Utilization Factor 0.5-0.9 n/a




Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Group In Accordance to I1SO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

A5. Installation

A scrap rate of 5% was assumed in the installation of the product in the use stage for this study. This rate was based
on the expertise of General Cable. Installers routinely use signal testing devices to ensure cable has been installed
properly; however, this device has negligible energy consumption compared to the rest of the installation and life
cycle impacts and so was excluded from the study as allowed by the cut-off criteria.

Installation into the building (A5)

Name Min Max Unit
Auxiliary materials - - kg
Water consumption - - m?3
Other resources - - kg
Electricity consumption - - kWh
Other energy carriers - - MJ
Product loss per functional unit 1.3E-03 3.2E-03 kg
Waste materials at construction site 1.3E-03 3.2E-03 kg
Output substance (recycle) 6.2E-04 8.7E-04 kg
Output substance (landfill) 1.1E-04 1.5E-04 kg
Output substance (incineration) 1.5E-03 2.1E-03 kg
Packaging waste (recycle) 4.3E-03 4.9E-03 kg
Packaging waste (landfill) 1.1E-03 1.3E-03 kg
Packaging waste (incineration) 2.9E-04 3.3E-04 kg
Direct emissions to ambient air*, soil, and
water 2.0E-03 2.2E-03 kg CO,
VOC emissions - - kg

*CO; emissions to air from disposal of packaging

B. Use Stage

The lifetimes of these products are widely variable and most often data cable is replaced due to increased bandwith
and data speed requirements, and not because of product performance or degradation. No cleaning, maintenance,
repair, or refurbishment is required.

Reference Service Life

Name Value Unit
Reference Service Life 30 years
Estimated Building Service Life 60 years
Number of Replacements 1 number

B2. Replacements

As the lifetimes are these products are widely variable, the assumption of service life is assumed to be 30 years. This
value was suggested by the Product Specific Rules for Wires and Cables published by the PEP-ecopassport program.
Most often data cable is replaced due to increased technology requirements and not due to product performance. As
the lifetime of a building is 60 years, the product would be replaced once.

9



Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Grou In Accordance to 1SO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

B6. Operational Energy Use

Operational energy use was modeled as use phase losses determined by the IEC 61156-5 standard and based on the
Product Specific Rules for Wires, Cables and Accessories published by the P.E.P ecopoassport® program in 2015. The
utlization rate of use is 70%. The maximum loss values for each cable category are detailed in the table below and
were used in the B6 stage.

Table 3 - Operational Energy Use
Power Consumption = Energy Consumption  Energy Consumption

Description - \W/m) (KWh/75 yr) (MJ/75 yr)
Category 5e 0.454 on 2-pair 0.418 1.503
Category 6 0.565 on 2-pair 0.520 1.871
Category 6A 1.364 on 4-pair 0.627 2.258
Category 7 1.363 on 4-pair 0.627 2.257

C. Disposal

The product can be mechanically dissembled to separate the different materials. 85% of the metals used are
recyclable. The remainder of components are disposed of through waste incineration with energy recovery, in
accordance with the PCR.

End of life (C1-C4)

Name Min Max Unit
Collected separately 1.2E-02 | 1.7E-02 | kg
Collected as mixed construction waste 1.3E-02 | 4.6E-02 | kg
Reuse 0.0E+00 | 0.0E+00 | kg
Recycling 1.2E-02 | 1.7E-02 | kg
Landfilling 2.2E-03 | 3.1E-03 | kg
Incineration with energy recovery 1.1E-02 | 4.4E-02 | kg
Energy conversion 44 44 %
Removals of biogenic carbon - - kg

D. Re-Use Phase

Reuse of the produc tis not common due to the nature of hard-wiring products into the building, as well as the
continual technological advances in the data networking industry. However, materials can be recycled at the end of
life for material and energy recovery.

Re-Use, recovery, And/Or Recycling Potential (D)
Name Min Max Unit

Net energy benefit from energy recovery from waste treatment declared
as exported energy in C3 (R>0.6)

Net energy benefit from thermal energy due to treatment of waste
declared as exported energy in C4 (R<0.6)

Net energy benefit from material flow declared in C3 for energy recovery 0.0E+00 | 0.0E+00 | MJ
Process and conversion efficiencies 44%

2.6E-02 | 6.1E-02 | MIJ

0.0E+00 | 0.0E+00 | MIJ

10



4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Prysmian

Grou
General Cable

Life Cycle Impact Assessment

The environmental impacts listed below were assessed throughout the life cycle of the riser data cable products as defined above, per one
meter of cable. The environmental impacts were analyzed using TRACI 2.1 methodology. For each category, the product with the most
potential towards environmental impacts (i.e. conservative) was chosen; all other products per category will be less than the results
provided.

Category 6A

Life Cycle Impact Assessment

Results shown below were calculated using TRACI 2.1 methodology.

Table 4: GenSPEED Category 6A Minimum and Maximum Life Cycle TRACI Impact Assessment Results per One Meter of Cable
TRACI 2.1 Impact Assessment

Parameter GWP ODP AP Air EP SP FFD
Category Ol © depleton potena Aclficationpotential - *IORREIE - SmOL A copletion
Unit kg CO»-Eq. kg CFC-11 Eq. kg SO-Eq. kg N-Eq. kg Os-Eq. MJ-surplus
Stage Min Max Min Max Min Max Min Max Min Max Min Max
Al1-A3 3.1E-01 3.3E-01 1.3E-06 2.2E-07 4.2E-03 4.7E-03 1.9E-02 1.9E-02 6.6E-02 7.2E-02 5.2E-01 5.2E-01
A4 1.3E-03 1.9E-03 5.1E-14 7.1E-14 7.9E-06 1.1E-05 4.4E-07 6.2E-07 2.2E-04 3.0E-04 2.5E-03 3.5E-03
A5 6.2E-04 6.2E-04 4.6E-12 4.6E-12 5.5E-07 5.5E-07 8.4E-06 8.4E-06 1.3E-05 1.3E-05 1.5E-04 1.5E-04
B4 3.8E-01 4.4E-01 1.3E-06 2.2E-07 4.2E-03 4.7E-03 1.9E-02 1.9E-02 6.7E-02 7.3E-02 5.4E-01 5.4E-01
B6 3.3E-01 3.3E-01 5.4E-12 5.4E-12 2.9E-03 2.9E-03 3.9E-05 3.9E-05 1.9E-02 1.9E-02 2.9E-01 2.9E-01
Cc2 4.2E-04 5.9E-04 1.6E-14 2.2E-14 2.5E-06 3.5E-06 1.4E-07 2.0E-07 6.9E-05 9.6E-05 8.1E-04 1.1E-03
c3 6.6E-02 1.1E-01 1.3E-09 2.1E-09 2.9E-05 4.6E-05 1.5E-05 2.4E-05 4.6E-04 7.3E-04 6.0E-03 9.6E-03
(o} 1.5E-03 2.5E-03 1.1E-10 1.7E-10 4.5E-06 7.1E-06 1.4E-05 2.2E-05 9.5E-05 1.5E-04 1.1E-03 1.7E-03
D -2.9e-01 | -3.5e-01 | -1.5E-08 | -1.5E-08 | -4.8E-03 | -5.4E-03 | -2.7E-02 | -2.8E-02 | -9.2E-02 | -9.7E-02 | -2.7E-01 | -3.2E-01

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

11




Prysmian

Grou
General Cable

4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Results shown below were calculated using CML 4.1 methodology.

Table 5: GenSPEED Category 6A Minimum and Maximum Life Cycle CML Impact Assessment Results per One Meter of Cable

», PO D ADP
O O POLE O
Deple O c O ADIO aepie O
OD : A C pote OpP O OPOSP c OzZone
e 0, e pote O O
pote O O PO 0 OLO e
OZ0 e O eso e
O Od
Unit kg CO-Eq. kg CFC-11 Eq. kg SO,-Eq. kg(PO4)*Eq. kg ethane-Eq. kg Sb-Eq.
Stage Min Max Min Max Min Max Min Max Min Max Min Max
A1-A3 3.1E-01 3.3E-01 1.3E-06 1.9€-07 3.8E-03 4.3E-03 8.3E-03 | 8.5E-03 1.5E-04 1.5E-04 7.9E-05 8.0E-05
A4 1.3E-03 1.9E-03 5.0E-14 7.0E-14 6.5E-06 9.1E-06 1.2E-06 | 1.6E-06 3.0E-07 4.2E-07 0.0E+00 | 0.0E+00
A5 7.6E-04 7.6E-04 3.5E-12 3.5E-12 4.4E-07 4.4E-07 3.1E-06 | 3.1E-06 1.7E-07 1.7E-07 7.2E-11 7.2E-11
B4 3.8E-01 | 4.4E-01 1.3E-06 1.9€-07 3.9E-03 4.4E-03 8.3E-03 | 8.6E-03 7.8E-04 1.1E-03 8.0E-03 1.2E-02
B6 3.3E-01 3.3E-01 5.4E-12 5.4E-12 2.9E-03 2.9E-03 3.9E-05 | 3.9E-05 1.9€-02 1.9E-02 2.9E-01 2.9E-01
c2 4.2E-04 5.9E-04 1.6E-14 2.2E-14 2.5E-06 3.5E-06 1.48-07 | 2.0E-07 6.9E-05 9.6E-05 8.1E-04 1.1E-03
c3 6.6E-02 1.1E-01 1.3E-09 2.1E-09 2.9E-05 4.6E-05 1.56-05 | 2.4E-05 4.6E-04 7.3E-04 6.0E-03 9.6E-03
ca 1.5E-03 2.5E-03 1.1E-10 1.7E-10 4.5E-06 7.1E-06 1.4E-05 | 2.2E-05 9.5E-05 1.5E-04 1.1E-03 1.7E-03
D -2.9e-01 | -3.5€-01 | -1.5E-08 | -1.5E-08 | -4.8E-03 -5.4E-03 | -2.7E-02 | -2.86-02 | -9.2E-02 | -9.7E-02 | -2.7E-01 | -3.2E-01

12

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Results shown on the following page contain the resource use throughout the life cycle of the product..




4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Prysmian

Grou
General Cable

Use of Resources

Parameter

Table 6 - GenSPEED Category 6A Minimum and Maximum Use of Resources per One Meter of Cable

RPRE
Renewable primary

RPRM

Renewable primary

NRPRE
Nonrenewable

NRPRM
Nonrenewable

SM

Use of secondary

Category energy as energy energy resources as primary energy as primary energy as material

carrier material utilization energy carrier material utilization
Unit M) M) MJ MJ kg
Stage Min Max Min Max Min Max Min Max Min Max
A1-A3 8.6E-01 9.4E-01 4.2E+00 4.5E+00 4.2E+00 4.5E+00 5.8E-01 | 5.9E-01 | 0.0E+00 0.0E+00
A4 0.0E+00 | 0.0E+00 1.7E-02 2.4E-02 1.7E-02 2.4E-02 0.0E+00 | 0.0E+00 | O0.0E+00 0.0E+00
A5 -4.6E-03 | -4.6E-03 | -2.5E+00 -2.5E+00 -2.5E+00 | -2.5E+00 | 2.5E+00 | 2.5E+00 | 0.0E+00 0.0E+00
B4 8.6E-01 9.4E-01 1.7E+00 2.1E+00 1.7E+00 2.1E+00 | 3.1E+00 | 3.1E+00 | 0.0E+00 0.0E+00
B6 0.0E+00 | 0.0E+00 | 4.6E+00 4.6E+00 4.6E+00 4.6E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
Cc2 0.0E+00 | 0.0E+00 5.4E-03 7.6E-03 5.4E-03 7.6E-03 0.0E+00 | 0.0E+00 | O0.0E+00 0.0E+00
Cc3 5.4E-03 8.6E-03 5.6E-02 8.9E-02 5.6E-02 8.9E-02 0.0E+00 | 0.0E+00 | O0.0E+00 0.0E+00
ca 4.2E-04 6.7E-04 1.0E-02 1.6E-02 1.0E-02 1.6E-02 0.0E+00 | 0.0E+00 | O0.0E+00 0.0E+00
D -1.0E+00 | -1.0E+00 | 0.0E+00 0.0E+00 -3.6E+00 | -4.5E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
Parameter RSF NRSF RE FW

Use of renewable Use of nonrenewable  Energy recovered from
Category . Freshwater use
secondary fuels secondary fuels disposed waste

Unit M) MJ MJ m?3
Stage Min Max Min Max Min Max Min Max
A1-A3 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 2.6E-03 | 3.4E-03
A4 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
A5 0.0E+00 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 4.1E-07 | 4.1E-07
B4 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 4.4E-03 | 6.2E-03
B6 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Cc2 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00
Cc3 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 1.8E-03 | 2.8E-03
(o} 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 5.2E-06 | 8.3E-06
D 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | -2.2E-03 | -2.2E-03

13




4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Prysmian

Grou
General Cable

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Output Flows and Waste

Results below contain the output flows and wastes throughout the life cycle of the product.

Table 7 - GenSPEED Category 6A Cable Minimum and Maximum Waste per One Meter of Cable

Output Flows and Waste Categories

Parameter HWD NHWD \ HLRW ILLRW
S Hazar.dous waste Non-haz.ardous _High:level Intermec!iate-.and low-
disposed waste disposed radioactive waste level radioactive waste
Unit kg kg kg kg
Stage Min Max Min Max Min Max Min Max
Al1-A3 8.7E-06 | 8.7E-06 | 3.5E-04 | 3.5E-04 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A4 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 4.4E-07 | 4.4E-07 | 1.2E-03 | 1.2E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B4 9.2E-06 | 9.2E-06 | 4.3E-03 | 4.6E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B6 0.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc3 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
ca 0.0E+00 | 0.0E+00 | 2.7E-03 | 3.1E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Parameter CRU MR MER EE
Components for re- Materials for Materials for energy Recovered energy
Category .
use recycling recovery exported from system
Unit kg kg kg M)
Stage Min Max Min Max Min Max Min Max
Al1-A3 0.0E+00 | O0.0E+00 | 4.4E-03 | 4.4E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A4 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 | 0.0E+00 | 4.5E-03 | 4.5E-03 | 2.9E-04 | 2.9E-04 0.0E+00 0.0E+00
B4 0.0E+00 | 0.0E+00 | 2.4E-02 | 2.6E-02 | 4.3E-02 | 4.3E-02 2.6E-01 2.6E-01
B6 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc3 0.0E+00 | 0.0E+00 | 1.6E-02 | 1.7E-02 | 4.3E-02 | 4.3E-02 2.6E-01 2.6E-01
Ca 0.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

14




Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Grou In Accordance to ISO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

Carbon Removals and Emissions

Results below contain direct greenhouse gas emissions and removals throughout the life cycle of the product.

Table 8 - GenSPEED Category 6A Cable Minimum and Maximum Greenhouse Gas Emissions and Removals per One Meter of Cable

Greenhouse Gas Emissions and Removals

Parameter | BCRP BCEP BCRK | BCEK
Biogenic Carbon Emissions

Biogenic Carbon Removal B'°5e?'c carbon Biogenic Carbon from Combustion of Waste
Category Emissions from Removal from
from Product Product el from Renewab!e Sources
Used in Production Process
Unit kg CO, kg CO, kg CO, kg CO,
Stage Min Max Min Max Min Max Min Max
Al1-A3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 2.0E-03 | 2.0E-03 0.0E+00 0.0E+00
A4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 2.0E-03 2.0E-03
B4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 2.0E-03 | 2.0E-03 2.0E-03 2.0E-03
B6 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
c3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
(o} 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Parameter \ BCEW CCE CCR CWNR
Biogenic Carbon Emissions Carbon Emissions from
from Combustion of Waste | Calcination Carbon  Carbonation Carbon Combustion of Waste from
Category ..
from Renewable Sources Emissions Removal Non-renewable Sources
Used in Production Process Used in Production Process
Unit kg CO, kg CO, kg CO, kg CO,
Stage Min Max Min Max Min Max Min Max
A1-A3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
A4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
B6 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
c3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
C4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

15



4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Prysmian
Grou
Category 6

Life Cycle Impact Assessment

Results shown below were calculated using TRACI 2.1 methodology.

Table 9: GenSPEED Category 6 Minimum and Maximum Life Cycle TRACI Impact Assessment Results per One Meter of Cable
TRACI 2.1 Impact Assessment

Parameter GWP ODP AP Air EP SP FFD
Category SN deptovon potential | Aclficationpotential - SUERIETN Ao T i
Unit kg CO»-Eq. kg CFC-11 Eq. kg SO»-Eq. kg N-Eq. kg Os-Eq. MJ-surplus
Stage Min Max Min Max Min Max Min Max Min Max Min Max
A1-A3 1.9E-01 3.1E-01 6.2E-08 1.3E-06 2.9E-03 4.2E-03 1.8E-02 1.9E-02 6.0E-02 6.6E-02 2.8E-01 5.3E-01
A4 1.1E-03 1.4E-03 4.1E-14 5.4E-14 6.4E-06 8.4E-06 3.6E-07 4.7E-07 1.7E-04 2.3E-04 2.0E-03 2.7E-03
A5 6.2E-04 6.2E-04 4.6E-12 4.6E-12 5.5E-07 5.5E-07 8.4E-06 8.4E-06 1.3E-05 1.3E-05 1.5E-04 1.5E-04
B4 2.4E-01 3.9E-01 6.3E-08 1.3E-06 2.9E-03 4.2E-03 1.8E-02 1.9E-02 6.1E-02 6.7E-02 2.9E-01 5.4E-01
B6 2.8E-01 2.8E-01 4.5E-12 4.5E-12 2.4E-03 2.4E-03 3.2E-05 3.2E-05 1.6E-02 1.6E-02 2.4E-01 2.4E-01
C2 3.4E-04 4.5E-04 1.3E-14 1.7E-14 2.0E-06 2.7E-06 1.1E-07 1.5E-07 5.5E-05 7.3E-05 6.5E-04 8.6E-04
Cc3 4.7E-02 7.2E-02 9.1E-10 1.4E-09 2.0E-05 3.2E-05 1.1E-05 1.6E-05 3.3E-04 5.0E-04 4.2E-03 6.6E-03
(o} 1.1E-03 1.7E-03 7.5E-11 1.2E-10 3.2E-06 4.9E-06 9.6E-06 1.5E-05 6.7E-05 1.0E-04 7.6E-04 1.2E-03
D -2.8E-01 | -2.9E-01 | -1.5E-08 | -1.5E-08 | -4.7E-03 | -4.8E-03 | -2.7E-02 | -2.7E-02 | -9.1E-02 | -9.2E-02 | -2.6E-01 | -2.7E-01

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

16




Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Group In Accordance to 1SO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

Results shown below were calculated using CML 4.1 methodology.

Table 10: GenSPEED Category 6 Minimum and Maximum Life Cycle CML Impact Assessment Results per One Meter of Cable
CML 4.1 Impact Assessment
Parameter GWP ODP AP Air EP POCP ADPE

Category Formation potential of
Acidification potential Eutrophication tropospheric ozone
for air emissions potential photochemical

oxidants

Depletion potential of
the stratospheric
ozone layer

Abiotic depletion
potential for non-
fossil resources

Global warming

potential

A1-A3 1.9e-01 | 3.1E-01 5.9E-08 1.3E-06 2.4E-03 3.8E-03 7.9E-03 | 8.3E-03 5.8E-05 1.5E-04 5.0E-05 7.7E-05
A4 1.1E-03 | 1.4E-03 | 4.0E-14 5.3E-14 5.3E-06 6.9E-06 9.3E-07 | 1.2E-06 | 2.4E-07 3.2E-07 0.0E+00 | 0.0E+00
A5 7.6E-04 | 7.6E-04 | 3.5E-12 3.5E-12 4.4E-07 4.4E-07 3.1E-06 | 3.1E-06 | 1.7E-07 1.7E-07 7.2E-11 7.2E-11
B4 2.4E-01 | 3.9t-01 | 6.0E-08 1.3E-06 2.4E-03 3.8E-03 8.0E-03 | 8.3E-03 | 5.1E-04 8.3E-04 5.7E-03 | 8.7E-03
B6 2.8E-01 | 2.8E-01 | 4.5E-12 4.5E-12 2.4E-03 2.4E-03 3.2E-05 | 3.2E-05 1.6E-02 1.6E-02 2.4E-01 2.4E-01
c2 3.4E-04 | 4.5E-04 | 1.3E-14 1.7E-14 2.0E-06 2.7E-06 1.1E-07 | 1.5E-07 | 5.5E-05 7.3E-05 6.5E-04 | 8.6E-04
c3 4.7E-02 | 7.2E-02 | 9.1E-10 1.4E-09 2.0E-05 3.2E-05 1.1E-05 | 1.6E-05 | 3.3E-04 5.0E-04 4.2E-03 6.6E-03
ca 1.1E-03 | 1.7E-03 | 7.5E-11 1.2E-10 3.2E-06 4.9E-06 9.6E-06 | 1.56-05 | 6.7E-05 1.0E-04 7.6E-04 | 1.2E-03
D -2.86-01 | -2.9E-01 | -1.5E-08 | -1.5E-08 | -4.7E-03 -4.8E-03 | -2.7E-02 | -2.7E-02 | -9.1E-02 | -9.2E-02 | -2.6E-01 | -2.7E-01

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Results shown on the following page contain the resource use throughout the life cycle of the product..

17



Prysmian

Group
General Cable

4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Use of Resources

Table 11 - GenSPEED Category 6 Minimum and Maximum Use of Resources per One Meter of Cable

Parameter RPRE RPRM NRPRE NRPRM SM

Renewable primary Renewable primary Nonrenewable Nonrenewable

) ) Use of secondary
Category energy as energy energy resources as primary energy as primary energy as material
carrier material utilization energy carrier material utilization
Unit M) M) M) M) kg
Stage Min Max Min Max Min Max Min Max Min Max
A1-A3 7.9E-01 8.6E-01 2.6E+00 4.1E+00 2.6E+00 4.1E+00 2.5E-01 | 6.1E-01 | 0.0E+00 0.0E+00
A4 0.0E+00 0.0E+00 1.4E-02 1.8E-02 1.4E-02 1.8E-02 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 -4.6E-03 | -4.6E-03 | -2.5E+00 -2.5E+00 -2.5E+00 | -2.5E+00 | 2.5E+00 | 2.5E+00 | 0.0E+00 0.0E+00
B4 7.9E-01 8.6E-01 7.7E-02 1.7E+00 7.7E-02 1.7E+00 2.8E+00 | 3.2E+00 0.0E+00 0.0E+00
B6 0.0E+00 | 0.0E+00 | 3.8E+00 3.8E+00 3.8E+00 3.8E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
Cc2 0.0E+00 | 0.0E+00 4.4E-03 5.7E-03 4.4E-03 5.7E-03 0.0E+00 | 0.0E+00 | O0.0E+00 0.0E+00
Cc3 3.8E-03 5.9E-03 4.0E-02 6.1E-02 4.0E-02 6.1E-02 0.0E+00 | 0.0E+00 | O0.0E+00 0.0E+00
(o} 3.0E-04 4.6E-04 7.1E-03 1.1E-02 7.1E-03 1.1E-02 0.0E+00 | 0.0E+00 | O0.0E+00 0.0E+00
D -1.0E+00 | -1.0E+00 | 0.0E+00 0.0E+00 -3.4E+00 | -3.6E+00 | O0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
Parameter RSF NRSF RE FW
Use of renewable Use of nonrenewable  Energy recovered from
Category . Freshwater use
secondary fuels secondary fuels disposed waste
MJ MJ MJ m3

Stage Min Max Min Max Min Max Min Max
A1-A3 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 1.9E-03 | 2.6E-03
A4 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
A5 0.0E+00 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 4.1E-07 | 4.1E-07
B4 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 3.2E-03 | 4.6E-03
B6 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Cc2 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Cc3 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 1.3E-03 | 2.0E-03
(o} 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 3.7E-06 | 5.7E-06
D 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | -2.2E-03 | -2.2E-03

18




4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Prysmian

Grou
General Cable

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Output Flows and Waste

Results below contain the output flows and wastes throughout the life cycle of the product.

Table 12 - GenSPEED Category 6 Cable Minimum and Maximum Waste per One Meter of Cable

Output Flows and Waste Categories

Parameter HWD NHWD HLRW ILLRW
S Hazar.dous waste Non-haz.ardous _High:level Intermec!iate-.and low-
disposed waste disposed radioactive waste level radioactive waste
Unit kg kg kg kg
Stage Min Max Min Max Min Max Min Max
Al1-A3 8.7E-06 | 8.7E-06 | 3.5E-04 | 3.5E-04 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A4 0.0E+00 | 0.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 4.4E-07 | 4.4E-07 | 1.2E-03 | 1.2E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B4 9.2E-06 | 9.2E-06 | 4.2E-03 | 4.5E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B6 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 | 0.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
C3 0.0E+00 | 0.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
(o} 0.0E+00 | 0.0E+00 | 2.7E-03 | 3.0E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 | 0.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Parameter CRU MR MER EE
Components for re- Materials for Materials for energy Recovered energy
Category .
recycling recovery exported from system
Unit kg kg kg MJ
Stage Min Max Min Max Min Max Min Max
Al1-A3 0.0E+00 | O0.0E+00 | 4.4E-03 | 4.4E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A4 0.0E+00 | 0.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 | 0.0E+00 | 4.5E-03 | 4.5E-03 | 2.9E-04 | 2.9E-04 0.0E+00 0.0E+00
B4 0.0E+00 | 0.0E+00 | 2.4E-02 | 2.6E-02 | 2.8E-02 | 2.8E-02 2.7E-01 2.7E-01
B6 0.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 | 0.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc3 0.0E+00 | 0.0E+00 | 1.6E-02 | 1.7E-02 | 2.8E-02 | 2.8E-02 2.7E-01 2.7E-01
(o} 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

19




Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Grou In Accordance to ISO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

Carbon Removals and Emissions

Results below contain direct greenhouse gas emissions and removals throughout the life cycle of the product.

Table 13 - GenSPEED Category 6 Cable Minimum and Maximum Greenhouse Gas Emissions and Removals per One Meter of Cable

Greenhouse Gas Emissions and Removals

Parameter \ BCRP BCEP BCRK BCEK
Biogenic Carbon Emissions

Biogenic Carbon Removal BlogerTlc carbon Biogenic Carbon from Combustion of Waste
Category Emissions from Removal from
from Product Product el from Renewab!e Sources
Used in Production Process
Unit kg CO, kg CO, kg CO, kg CO,
Stage Min Max Min Max Min Max Min Max
A1-A3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 2.0E-03 | 2.0E-03 0.0E+00 0.0E+00
A4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 2.0E-03 2.0E-03
B4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 2.0E-03 | 2.0E-03 2.0E-03 2.0E-03
B6 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
c3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Ca 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Parameter \ BCEW CCE CCR CWNR
Biogenic Carbon Emissions Carbon Emissions from
from Combustion of Waste  Calcination Carbon  Carbonation Carbon Combustion of Waste from
Category ..
from Renewable Sources Emissions Removal Non-renewable Sources
Used in Production Process Used in Production Process
Unit kg CO, kg CO, kg CO, kg CO,
Stage Min Max Min Max Min Max Min Max
Al1-A3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B6 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Ca 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

20




4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Prysmian
Grou
Category 5e

Life Cycle Impact Assessment

Results shown below were calculated using TRACI 2.1 methodology.

Table 14: GenSPEED Category 5e Minimum and Maximum Life Cycle TRACI Impact Assessment Results per One Meter of Cable
TRACI 2.1 Impact Assessment

Parameter GWP ODP AP Air EP SP FFD
Category SN deptovon potential | Aclficationpotential - SUERIETN Ao T i
Unit kg CO»-Eq. kg CFC-11 Eq. kg SO»-Eq. kg N-Eq. kg Os-Eq. MJ-surplus
Stage Min Max Min Max Min Max Min Max Min Max Min Max
Al1-A3 1.5E-01 2.4E-01 7.1E-08 1.2E-07 2.3E-03 4.2E-03 1.5E-02 1.7E-02 4.9E-02 6.1E-02 2.3E-01 3.6E-01
A4 7.5E-04 1.3E-03 2.9E-14 5.1E-14 4.5E-06 7.9E-06 2.5E-07 4.4E-07 1.2E-04 2.2E-04 1.4E-03 2.5E-03
A5 6.7E-04 6.2E-04 5.2E-12 4.6E-12 6.2E-07 5.5E-07 9.6E-06 8.4E-06 1.5E-05 1.3E-05 1.7E-04 1.5E-04
B4 1.9E-01 3.1E-01 7.1E-08 1.2E-07 2.4E-03 4.2E-03 1.5E-02 1.7E-02 5.0E-02 6.2E-02 2.4E-01 3.8E-01
B6 2.2E-01 4.2E-01 3.6E-12 6.8E-12 1.9E-03 3.6E-03 2.6E-05 4.9E-05 1.3E-02 2.4E-02 1.9E-01 3.7E-01
C2 2.4E-04 4.2E-04 9.1E-15 1.6E-14 1.4E-06 2.5E-06 8.0E-08 1.4E-07 3.9E-05 6.9E-05 4.6E-04 8.1E-04
Cc3 3.0E-02 7.0E-02 5.8E-10 1.4E-09 1.3E-05 3.1E-05 6.7E-06 1.6E-05 2.1E-04 4.9E-04 2.7E-03 6.3E-03
(o} 6.9E-04 1.6E-03 4.8E-11 1.1E-10 2.0E-06 4.7E-06 6.1E-06 1.4E-05 4.2E-05 1.0E-04 4.8E-04 1.1E-03
D -2.2E-01 | -2.8E-01 | -1.2E-08 | -1.3E-08 | -3.7E-03 | -4.4E-03 | -2.2E-02 | -2.4E-02 | -7.3E-02 | -8.4E-02 | -2.0E-01 | -2.6E-O01

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

21




Prysmian
Grou

Results shown below were calculated using CML 4.1 methodology.

4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Table 15: GenSPEED Category 5e Minimum and Maximum Life Cycle CML Impact Assessment Results per One Meter of Cable

», . . », AD A », . » A ' »,
O d O c O
De pie O pote O ADIO aepie O
OD : A C O pote OpP O OPOSP c OzZone
e OSSP e pote O O
pote O O PO 0 OLO
OZ0 e e O e
O Od
Unit kg CO-Eq. kg CFC-11 Eq. kg SO,-Eq. kg(PO4)*Eq. kg ethane-Eq. kg Sb-Eq.
Stage Min Max Min Max Min Max Min Max Min Max Min Max
A1-A3 1.5E-01 2.4E-01 5.5E-08 1.1E-07 1.9-03 3.9E-03 6.5E-03 | 7.5E-03 4.4E-05 1.3E-04 4.1E-05 7.8E-05
A4 7.6E-04 1.3E-03 2.8E-14 5.0E-14 3.7E-06 6.5E-06 6.6E-07 | 1.2E-06 1.7E-07 3.0E-07 0.0E+00 | 0.0E+00
A5 8.2E-04 7.6E-04 | 4.0E-12 3.5E-12 5.0E-07 4.4E-07 3.6E-06 | 3.1E-06 1.8E-07 1.7E-07 8.1E-11 7.2E-11
B4 1.9€-01 3.1E-01 5.6E-08 1.1E-07 1.9E-03 3.9E-03 6.5E-03 | 7.6E-03 3.3E-04 7.8E-04 3.7E-03 8.4E-03
B6 2.2E-01 | 4.2E-01 3.6E-12 6.8E-12 1.9€-03 3.6E-03 2.6E-05 | 4.9E-05 1.3E-02 2.4E-02 1.9E-01 3.7E-01
c2 2.4E-04 | 4.2E-04 9.1E-15 1.6E-14 1.4E-06 2.5E-06 8.0E-08 | 1.4E-07 3.9E-05 6.9E-05 4.6E-04 8.1E-04
c3 3.0E-02 7.0E-02 5.8E-10 1.4E-09 1.3E-05 3.1E-05 6.7E-06 | 1.6E-05 2.1E-04 4.9E-04 2.7E-03 6.3E-03
ca 6.9E-04 1.6E-03 4.8E-11 1.1E-10 2.0E-06 4.7E-06 6.1E-06 | 1.4E-05 4.2E-05 1.0E-04 4.8E-04 1.1E-03
D -2.2E-01 | -2.86-01 | -1.2E-08 | -1.3E-08 | -3.7E-03 -4.4€E-03 | -2.2E-02 | -2.4E-02 | -7.3E-02 | -8.4E-02 | -2.0E-01 | -2.6E-01

22

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Results shown on the following page contain the resource use throughout the life cycle of the product..




4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Prysmian
Group

Use of Resources

Table 16 - GenSPEED Category 5e Minimum and Maximum Use of Resources per One Meter of Cable

Parameter RPRE RPRM NRPRE NRPRM SM
Renewable primary Renewable primary Nonrenewable Nonrenewable

) ) Use of secondary

Category energy as energy energy resources as primary energy as primary energy as material
carrier material utilization energy carrier material utilization

Unit M) M) M) M) kg
Stage Min Max Min Max Min Max Min Max Min Max
Al1-A3 6.9E-01 8.0E-01 2.1E+00 3.2E+00 2.1E+00 3.2E+00 1.4E-01 | 4.0E-01 | 0.0E+00 0.0E+00
A4 0.0E+00 | 0.0E+00 9.7E-03 1.7E-02 9.7E-03 1.7E-02 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
A5 -5.3E-03 | -4.6E-03 | -2.5E+00 -2.5E+00 -2.5E+00 | -2.5E+00 | 2.5E+00 | 2.5E+00 | 0.0E+00 0.0E+00
B4 6.9E-01 8.0E-01 -3.6E-01 7.6E-01 -3.6E-01 7.6E-01 2.7E+00 | 2.9E+00 | 0.0E+00 0.0E+00
B6 0.0E+00 | 0.0E+00 | 3.1E+00 5.9E+00 3.1E+00 5.9+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
Cc2 0.0E+00 | 0.0E+00 3.1E-03 5.4E-03 3.1E-03 5.4E-03 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
c3 2.4E-03 5.7E-03 2.5E-02 5.9E-02 2.5E-02 5.9E-02 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
(o} 1.9E-04 4.4E-04 4.5E-03 1.1E-02 4.5E-03 1.1E-02 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00
D -8.0E-01 | -9.0E-01 | 0.0E+00 0.0E+00 -2.7E+00 | -3.5E+00 | O0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00

Parameter

Category

RSF

Use of renewable
secondary fuels

Use of nhonrenewable

NRSF

secondary fuels

Energy recovered from

RE

disposed waste

FW

Freshwater use

Unit M) MJ MJ

Stage Min Max Min Max Min Max Min Max
Al1-A3 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 1.6E-03 | 2.6E-03
A4 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
A5 0.0E+00 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 4.5E-07 | 4.1E-07
B4 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 2.4E-03 | 4.5E-03
B6 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Cc2 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00
Cc3 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 8.0E-04 | 1.9E-03
(o} 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 2.3E-06 | 5.5E-06
D 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00 0.0E+00 | -1.8E-03 | -2.0E-03

23




4-Pair Riser Datacom Cable Environmental Product Declaration
In Accordance to ISO 14025 and EN 15804
Norwegian EPD Foundation: PCR for Electrical cables and wires

Prysmian

Grou
General Cable

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

Output Flows and Waste

Results below contain the output flows and wastes throughout the life cycle of the product.

Table 17 - GenSPEED Category 5e Cable Minimum and Maximum Waste per One Meter of Cable
Output Flows and Waste Categories

Parameter HWD NHWD HLRW ILLRW
T Hazar'dous waste Non—haz'ardous ‘Highi—level Intermec?iate—.and low-
disposed waste disposed radioactive waste level radioactive waste
Unit kg kg kg kg
Stage Min Max Min Max Min Max Min Max
Al1-A3 1.2E-05 | 8.7E-06 | 9.9E-06 | 3.5E-04 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A4 0.0E+00 | O.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 5.9E-07 | 4.4E-07 | 1.3E-03 | 1.2E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B4 1.2E-05 | 9.2E-06 | 3.5E-03 | 4.3E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B6 0.0E+00 | O.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 | O.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
C3 0.0E+00 | O.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
(o} 0.0E+00 | 0.0E+00 | 2.2E-03 | 2.8E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Parameter CRU MR MER EE
Components for re- Materials for Materials for energy Recovered energy
Category .
use recycling recovery exported from system
Unit kg kg kg MJ
Stage Min Max Min Max Min Max Min Max
Al1-A3 0.0E+00 | 0.0E+00 | 1.0E-03 | 4.4E-03 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A4 0.0E+00 | O.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 | 0.0E+00 | 4.9E-03 | 4.5E-03 | 2.9E-04 | 2.9E-04 0.0E+00 0.0E+00
B4 0.0E+00 | 0.0E+00 | 1.8E-02 | 2.5E-02 | 2.7E-02 | 2.7E-02 1.8E-01 1.8E-01
B6 0.0E+00 | O.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 | O.0E+00 | O.0E+00 | O.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc3 0.0E+00 | 0.0E+00 | 1.2E-02 | 1.6E-02 | 2.7E-02 | 2.7E-02 1.8E-01 1.8E-01
(o} 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

24




Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Grou In Accordance to ISO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

Carbon Removals and Emissions

Results below contain direct greenhouse gas emissions and removals throughout the life cycle of the product.

Table 18 - GenSPEED Category 5e Cable Minimum and Maximum Greenhouse Gas Emissions and Removals per One Meter of Cable

Greenhouse Gas Emissions and Removals

Parameter \ BCRP BCEP BCRK BCEK
Biogenic Carbon Emissions

Biogenic Carbon Removal BlogerTlc carbon Biogenic Carbon from Combustion of Waste
Category Emissions from Removal from
from Product Product el from Renewab!e Sources
Used in Production Process
Unit kg CO, kg CO, kg CO, kg CO,
Stage Min Max Min Max Min Max Min Max
A1-A3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 2.2E-03 | 2.0E-03 0.0E+00 0.0E+00
A4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 2.2E-03 2.0E-03
B4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 2.2E-03 | 2.0E-03 2.2E-03 2.0E-03
B6 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
c3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Ca 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Parameter \ BCEW CCE CCR CWNR
Biogenic Carbon Emissions Carbon Emissions from
from Combustion of Waste  Calcination Carbon  Carbonation Carbon Combustion of Waste from
Category ..
from Renewable Sources Emissions Removal Non-renewable Sources
Used in Production Process Used in Production Process
Unit kg CO, kg CO, kg CO, kg CO,
Stage Min Max Min Max Min Max Min Max
Al1-A3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
A5 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B4 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
B6 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc2 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Cc3 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
Ca 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00
D 0.0E+00 0.0E+00 0.0E+00 | 0.0E+00 | 0.0E+00 | 0.0E+00 0.0E+00 0.0E+00

*All use phase and disposal stages have been considered and only those with non-zero values have been reported

25




Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Group In Accordance to ISO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

LCA Interpretation

The replacement (B4) and in life energy usage (B6) dominate the impacts across all impact categories. Outside of
reaplacements, the production stage (A1-A3) dominates the impacts due to the upstream production of materials
used in the product, along with electricity use in the manufacturing of the product. With one replacement required
over a life-span of a building, the replacement stage (B4) dominates from duplicating these stages. Module B4
excludes all benefits and loads on the system. As one replacement occurs in this specified lifetime, module D includes

benefits of two products.

mD

EC4

EC3

mC2

mB6

EB4
A5

I

mA4

100%

80%

60%

40%

20%

0%

20% mA1-A3
- (]

-40%
GWP oDbp AP Air EP SP FFD

Optional Environmental Information

Organizational Third-Party Certification

General Cable is a member of the US Green Building Council, The Green Suppliers Network, and Agenda 21
(Barcelona). In addition, 21 manufacturing facilities around the world are ISO 14001 certified, while another 20 are
ISO 14001 equivalent (policies and procedures implemented but not yet certified).

26



Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Grou In Accordance to 1SO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

References

- ANSI/TIA-568.2-D Commercial Building Telecommunications Cabling and Components, September 2018.

- ASTM International General Program Instructions v8.0, April 29, 2020.

- CEN EN 15804 Sustainability of construction works — Environmental Product Declarations — Core rules for the
product category of construction products EN 15804:2012+A1:2013.

- EPD Norge PCR Part A The Norwegian EPD Foundation: NPCR Part A: Construction Products and Services,
v2.0, March 2021.

- EPD Norge PCR Part B The Norwegian EPD Foundation: NPCR 027 Part B: Electrical Cables and Wires, v1.0,
October 2020.

- ILCD Joint Research Commission, ILCD Handbook: General Guide for Life Cycle Assessment, 2010

- 1SO 21930:2017 Sustainability in buildings and civil engineering works - Core rules for environmental product
declarations of construction products and services.

- Intergovernmental Panel on Climate Change (IPCC). Climate Change 2013. The Physical Science Basis.
Cambridge University Press. 2014 (http://www.ipcc.ch/report/ar5/wgl/).

- 1SO 14025:2010 Environmental labels and declarations — Type Il environmental declarations — Principles and
Procedures

- 1SO 14040:2006/Amd 1:2020 Environmental management - Life cycle assessment — Principles and framework

- 1SO 14044:2006/Amd 1:2017/Amd 2:2020 Environmental management - Life cycle assessment —
Requirements and guidelines

- Krieger, T. et al. New Fire Hazard and Environmental Burden Evaluations of Electrical Cable Installations
Utilizing ISO 14040 Environmental Methodologies. DuPont. November 10, 2007.

- NFPA 70: National Electrical Code, January 1, 2020

- NFPA 262: Standard Method of Test for Flame Travel and Smoke of Wires and Cables for Use in Air-Handling
Spaces, January 4, 2019

- UL 44 Standard Thermoset-Insulated Wires and Cables

- UL444 & CSA C22.2 NO. 214-08 (R2013) - Communications cables (Bi-national standard)

- UL 1666 Test for Flame Propagation Height of Electrical and Optical-Fiber Cables Installed Vertically in Shafts,
February 16, 2007.

- USEPA, Tool for the Reduction and Assessment of Chemical and Other Environmental Impacts (TRACI), v2.1
EPA/600/R-12/554 2012.

- USEPA, Wire and Cable Insulation and Jacketing: Life-Cycle Assessments for Selected Applications, June
2008, EPA 744-R-08-001

- USEPA Waste Reduction Model (WARM) v15, November 2020.

- US Federal Trade Commission 16 C.F.R. Part 260: Guides for the Use of Environmental Marketing Claims:
Request for Public Comment on Proposed, Revised Guides, October 15, 2010.

LCA Development
This EPD and corresponding LCA were prepared by Sustainable Solutions Corporation of Royersford, Pennsylvania.

O

SustainableSolutions

CORPORATION

27


http://www.ipcc.ch/report/ar5/wg1/
http://www.sustainablesolutionscorporation.com/
http://www.sustainablesolutionscorporation.com

Prysmian 4-Pair Riser Datacom Cable Environmental Product Declaration

Group In Accordance to ISO 14025 and EN 15804
General Cable Norwegian EPD Foundation: PCR for Electrical cables and wires

Contact General Cable

For more information, please visit http://www.generalcable.com, or contact Technical Support at
info@generalcable.com or 859-572-8000.

Environment


http://www.generalcable.com/

	Product Definition and Information
	Company Description
	Product Description
	GenSPEED® 10 MTP™ Category 6A, Part Number: 7143849
	GenSPEED® 10 MTP™ with 17 FREE® Category 6A, Part number: 7133849-17F
	GenSPEED® 10,000 Category 6A U/FTP (STP), Part number: 7133786
	GenSPEED® 10,000 Category 6A F/UTP (ScTP), Part number: 7133586
	GenSPEED® 10 Category 6A, Part number: 7143819
	GenSPEED® 6500 Premium Category 6, Part number: 7133970
	GenSPEED® 6000 Enhanced Category 6, Part number: 7133900
	GenSPEED® 6 Category 6, Part number: 7133800
	GenSPEED® with 17 FREE® Category 6, Part number: 7133800-17F
	GenSPEED® Category 6 F/UTP (ScTP), Part number: 6133785
	GenSPEED® 5500 Premium Category 5e, Part number: 6133299
	GenSPEED® 5350 Enhanced Category 5e, Part number: 6133712
	GenSPEED® 5350 with 17 FREE® Enhanced Category 5e, Part number: 6133500-17F
	GenSPEED® 5000 Category 5e, Part number: 5133299E
	GenSPEED® 5000 with 17 FREE Category 5E, Part number: 5133299-17F
	GenSPEED® 5000 Category 5E F/UTP (ScTP), Part number: 2133496E

	Functional Unit
	Manufacturing Locations
	Applications and Uses

	Life Cycle Assessment Description
	System Boundary
	Allocation
	Cut-off Criteria
	Period under Consideration
	Software and Background Data
	Data Quality
	Treatment of Biogenic Carbon
	Comparability and Benchmarking
	Installation and Use Stage
	End-of-Life

	Cradle-to-Grave Assumptions
	A1. Material Inputs
	A2. Raw Material Transportation
	A3. Manufacturing Process
	Packaging

	A4. Final Product Transportation
	A5. Installation
	B. Use Stage
	B2. Replacements
	B6. Operational Energy Use

	C. Disposal
	D. Re-Use Phase

	Life Cycle Impact Assessment
	Category 6A
	Life Cycle Impact Assessment
	Use of Resources
	Output Flows and Waste
	Carbon Removals and Emissions

	Category 6
	Life Cycle Impact Assessment
	Use of Resources
	Output Flows and Waste
	Carbon Removals and Emissions

	Category 5e
	Life Cycle Impact Assessment
	Use of Resources
	Output Flows and Waste
	Carbon Removals and Emissions

	LCA Interpretation

	Optional Environmental Information
	Organizational Third-Party Certification

	References
	LCA Development
	Contact General Cable


